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® 5 HAEP & R*A B2 (Determine oo in two ways)
® EEMAGHIE
® ixir¥Fm
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(2)Moment-generating function(mgf)i& *

(3)Normal distributions 5"
® RPpFEm > FNALEH P (FLLaAHER)

x ¢ If Xis N(3,16),then

P(4SXS8)=P<4_3SX_3S8_3>

V6 = Vie - Vie

— Pz <125)— P(Z < 0.25)
=0 (1.25) — $(0.25)

where @ is C.D. F of Normal distribution

=(. 8944-0. 5987=0. 2957 (& % &%)
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If X, ...X, iid N(g o2), then

n
LN = TN
2w = KN
=1
5K ek R it (AN & 4 > i F AR
az/n
B+t asr v ki Fedficim -

® 5411 AmMAFEIRG 0 F Y

h(w)=P(W =w) =PX+Y=w)

=ZP(X+Y=W|X=X)P(X=X)
=ZP(Y=W—X)P(X:x)

=) f@gw -



